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TrigonometryExercise8 for No.3

Nol =[D =120, 0.=45° B =60°]
No2=[a=8,b=9,0=60"]

No3 =[x=96,0=30°y=138]
No4=[a=61,b=279,h=160]
No4=[h=150,N=21,H=5,D, = South, a.= 35°, D, = East, B=45]
No4=[h=77,H=178, 0.=30"]

Nod =[H =280, o.= 55°, B = 30°]
0:9:9,90.9.9:90.9.9:0.9.9:0.9.9:0.9.9:0.9.9.0.9,:90.90.9:0.9.9:0.9.9:0.9.9:0.9.:9:0.9.:9.0.9.:9.9.9:0.9.9:0.9.9:0.9.9:0.9.9:0.:9.9.0.9:90.0.9:0.9.9:0.9.9:0.9.0:¢
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TrigonometryExercise8 Answers for No.3

1=(324/3 = 55.426) M
Ansl =[1204/3 — 120=87.846], , Ans2=[+/73 =8.544], , Ans3 = e
.2 =| arctan =21.882° t
h
@

.1 =380 M
Ans4 =132.057, , Ans5=185.677, , Ans6 =175, . Ans7—[2 _ 190}, | U
T





